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Question Number : 1 Question Id : 5500531601 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The range of the real valued function f(x)=+/9-x" is
TR By DE0ALIN F(X)=VI-X" B0, T

Options :

|
ad
[

3. 0]



Question Number : 2 Question Id : 5500531602 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

i)

If £ :R\{0} - Ris defined by f(x):x+l. then the value of (f(x)) =
: :

ER0} R & f(x)=x+2 m 6D, (£(x)) Gog) Dews
X
Options :

.y f(x) +(0)
. f(x>)+£(2)
- f(x*)+£(0)

L o O+

Question Number : 3 Question Id : 5500531603 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If A= 4 3 1| isexpressed asa sum of a symmetric matrix P and skew
-5 7 2

symmetric matrix Q. then P* -Q" =

[2 g =3
A= 4 3 1 meusﬁvgam@s P 0805w msagﬁvgam@;mu
b5 7 2

Audorr B4 06, W\ P'-Q' =

Options :
8 =16 =4 |
2 & 7
6 14 -16
1. % = =
[ 2 W =%
4 3
=f F g
2.¥ - =
(2 4 5]
0 3 7
=3 1 2
3.% - -

1 O =319
/ 5.
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Lad
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4. % - .
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Question Number : 4 Question Id : 5500531604 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
(1 2 0) (9 1 %)
IfA+EB:| 6 -3 3|and2A-B=|2 -1 6. then Tr|A]-Tt[B|=
|
\-5 3 1] 0 1 2)
(1 2 0) (3 - 8
A+2B= 6 -3 3 |&Bakw 24-B=|2 -1 6|eond, Ti[A|-Tr[B|=
|
-5 3 1 0 1 2
Options :
1% 1
2
2.9
3. % 3
4. % 4

Question Number : 5 Question Id : 5500531605 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



11 x|

The sum of the distinct values of x for which the matrix A=/1 X 1| hasno
2 1 1

mverse, 18
11 x]

args A=|1 x 1| 3 I8 d0 St Golrr cod x a2og), IDI) Jende
x 11

RAERI
Options :

1.% 4

-2

Question Number : 6 Question Id : 5500531606 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
- £ 2 : : r
If -3+1x"yand x™ +y+41are complex conjugates. then X =
. 5 . &
“341x°y A08atn X +y+4ien ‘é:oé’ig K001 VO3, DD\ X =
Options :

1.330



Question Number : 7 Question Id : 5500531607 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A

If z=1+cosB—1sm6 and 0 <6 <7, then z—ll——J =

1 1;'2

. g |
z=1+cos6-1smB 2080k 0 <6 <7 wond, w)\hd z—l"—‘T

Options :

1 % V2 cos®

_ \Esqu}
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Question Number : 8 Question Id : 5500531608 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In the Argand plane, the values of zsatisfying the equation ‘z— l‘ = ‘1( zT:l]‘ lie on

1= ‘i[z+1] ADIEIR) Sy D65 7 Deviden 8Tol Swod
Options :
the Y — axis

Y — e9g0 DR oo
1.¢

a Parabola

. S DTTT OO DA EOLIPOND
2.

a Hyperbola

208 98 DTV DR &OLTPAD
3. %

the X — axis

X — 950 D& &0
4, #

Question Number : 9 Question Id : 5500531609 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If 1. o, 0 are the cube roots of unity and (x+V)(x0+y0')(x0' +yo) =f (x,¥). then
fi23)=
Lo o w4y uddumeren ok (X+7)(x0+ 0" )(xa" +70)=f(x,)
wod, eipd £(2,3)=
Options:

1.% 16

o % 24

Question Number : 10 Question Id : 5500531610 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If the roots of the equation 3x” +4kx + 3 =0 are non-real, then k lies in the interval
AR0g6mdw 3x° +4kx+3=0 g, Areren TRHS6ATS, Yy k &odt

29053000

Options :

2
o

1.



Question Number : 11 Question Id : 5500531611 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If cosect. and cot® are the roots of cx” +bx+a=0 (be20), then b’ (b* - dac) =

ex’ +hx+a=0 (bez0) a3g), Aureren cosecd dakw coth ewows, ey
b*(b* —4ac)=

Options :



Question Number : 12 Question Id : 5500531612 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The sum of the fourth powers of the roots of the equation 16x° —10x +1=01s

Dag8e0 16%° ~10x+1=0ciog), surere avg), 48 2rero 2do
Options:

251
4096

-2
L
|

L w2048

Question Number : 13 Question Id : 5500531613 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If P(x)=0 is a polynomial equation of least degree with integer coefficients and

\/5 - \ﬁ 1 is one of its roots. then that equation is
TToTR Hrseur 90D £33 364 wirond daddno P(x) =0,
28 Sareo V2 +431 wond, SIONALY H&beo

Options :

Cx X°-2xM 427 -25=0

L X0 +3x P +2x7 +24=0

2.
X 4 2%F 425 =0
3.¢¥ - =
,_.:1._.4-),_1___.-},_
4%3 2% 25 =10

Question Number : 14 Question Id : 5500531614 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A question paper has two sections A and B in which section-A has 8 questions and
section-B has 6 questions. A student has to answer a total of 10 questions, choosing
atleast 4 questions from section—A and atleast 3 questions from section-B. Then the
number of ways a student can answer that paper is

w8 T 23085" o Boch Derrren A, B odf’ darilo —A & 8 D8y, Dertio - B
& 6 D8 0 &) Q. w8 A deetio ~ A dooct $0%0 4 p#) 0, oo - B
$006 $%0 3 0¥ e0 oot Awdo A VB YF) VD VATTIVL

Faird. @i\th S (B & L) HSOID VArEEDAD Fod Jero Vosy



Options :

, % 800

, % 820

5 % 840

4 v 986

Question Number : 15 Question Id : 5500531615 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

[y

The coefficient of X° in the expansion of (1-x)

(|x

Alxl < 1) oB0g. DHSees” X° B, Koo
( )y DRB0S” X cios),

<1)is

o | a2

(1-x)
Options :

-

J

1= 16

, v 16



o

Question Number : 16 Question Id : 5500531616 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

o,

If the sum of the coefficients of even powers of x in the expansion of (1-x+x*| i

3281, then n =
(1-x+x )" o) D0e’™ x vy Ho0rTe d0g) Hse 2o 3281
9003, WD\ 1 =

Options :

’I.v"ii

Question Number : 17 Question Id : 5500531617 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If 5 dice are rolled simultaneously, then the number of ways of getting a total of
seven of the numbers appear on their faces is

5 g0k 80l BB T dwarep S8y ©030 Ado IR
TotsidF e o)

Options :

w12

I
#
(]
L

Question Number : 18 Question Id : 5500531618 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The numbers of positive even divisors of 6300 is
6300 ca.uS{)J G 2O rasw ;::30335

Options :

. % 30

3. % 18
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Question Number : 19 Question Id : 5500531619 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

| . : 1
If cosc+cosPp=— and smo +smf= ¥ then cos(a+p)=
J ;

. . 1
cosa+cosf=— odaiw sino+smnfi= ’ 2900, RPN CoS(0L+ B)=

1
3

Options :

k-2
&%

-2
hn

-2
N

[a—
Ll

-2
N

Question Number : 20 Question Id : 5500531620 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



f.r" \,'I_/ \'u { T\

m 2T 3in
1+c03—;[1—;c05—‘[]+c05—:[l—:c05 g -
L 8 _-'I Y 8 FiRY 8 ;I \ 8 Fl i 8 J

Options :

%
|

Question Number : 21 Question Id : 5500531621 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

- —— -
If 3sin'x+2c08'X = = and X 1s an acute angle, then tan2x =

X 28 wa0Sndn Dok 3sin'x+2cosx =

| o

29008, R\ tan2x =

Options :

26

1. % D
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-2
Y

L]
N
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Question Number : 22 Question Id : 5500531622 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If fﬂ(x):£[5111‘ x+cos™ x | then £, (x)+£, (x)-£;(x) =

fn(x]:?iu[sinz”x;—cosm 3{} 200B, W) f,(x)+£,(x)-£(x)=

Options :

1.330

hn
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Question Number : 23 Question Id : 5500531623 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Ifcos 6. sinB andcot 6 are in geometric progression. then
sin” B+sin’ 0+ 3sin’0 +sin’ B +sin’ 6 =
c0s O, SIN O S080%00 cothew KBdeS” o, I
-4 i o i, Py o
sm” 8+sm 0+3sm’0+sm" 0+sm° 6=
Options :

v 2

2.*'5-"r

Question Number : 24 Question Id : 5500531624 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



X
If coshx =cosec®, then coth’ e

coshx =cosect evond, e ¢ coth’ N

Options :

5
fan —

Question Number : 25 Question Id : 5500531625 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

In AABC.if .5, =7:8 and 1;:1; =3:4, then a:b:c=

AABC & 11, =7:8 206030 1:1,=3:4 eand, @y a:bic=
Options :

| w 24:21:28



8:7:6

L o 13:14:15

Question Number : 26 Question Id : 5500531626 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In AABC. if (sinA+simB)(sin A-sinB)=sinC(sinB+sinC), then /A=

AABCE' (sinA+sinB)(sinA-sinB) =snC(sinB+sinC) wond, @\
ZA=

Options :

| % 60°

Question Number : 27 Question Id : 5500531627 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



a4 9o g : : g . A
In AABC, if A, B, C are in arithmetic progression, then —sm2A +— sm2C =
a c

G d .
AABCS' A, B, C oo w083¢ & &off, 0y —sin2A+— sm2C=
d C

Options :

Question Number : 28 Question Id : 5500531628 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

X+l . .
Let x be a real number and -2 < x < 2. When ———— is expanded in powers

(x+3) (x-2)
of . then the coefficient of x° is

x+1

(x+3) (x-2)

X 08 TPRdw0g) 001D -2 <X <2 BRDOTF0. B
g, el DBod) TRV ¥ g o

Options :

1.9



L
L

1296
97
L w216
13
L. 216
119
4« 1800

Question Number : 29 Question Id : 5500531629 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a=tb where t <0 is a scalar. then

a=th, t<0 28 e98% es00B,

Options:
56 are like vectors and |a| > 5‘
a.b en Dardoh D&% Doty [a| - ‘E‘
;E are unlike vectors and |a| > ‘B‘
a.b o0 Dardab DA% 080k |a| > E‘




<[f

a

a.b are like vectors and

. 2.b e 2rEoH HBBen Q8o |a] < B‘

EE are unlike vectors and either al = ‘E‘ or |a| <|b

a.b v Dardas DA% SB05W ‘5 > E‘ S |a| < ‘E‘
4.

Question Number : 30 Question Id : 5500531630 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Let a,b,c be coinitial vectors and a=21-7+5k and b=31+7;-k Let (a,b) =6
be an acute angle and ¢ be the vector along the bisector of the angle 0. If . x.y € R,

then =

a,b,cen 260z HB%en.a = 21—+ 5k Sbaty b=3+7j-k wdbomo.
(Q,B) 20 w8 wdwSndw daty B Sno aBg), RAAGDOCD T Sowd: &)
268 ¢ wdodomo. Lx.yeR wand, SN c=

Options :

e A(51+6]+4k)

. A(-i-8]+6Kk)

., (@x+39)i+(Ty-%)j+(x-yk



L (2x+39)i+(x+7y)j+(Gx+y)k

Question Number : 31 Question Id : 5500531631 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If a=2i-5j+8k, b=7i-5j+ 3k are two vectors and

( a —Sb) (4a+b) = xi+yj+zk, then x+y+z=

b=7i—5]+3k Bo&> D&% So8akw

s

a:’?l—S]—S

(2a-30)

—

4’} +b) = x_ify}rzﬁ 2900E3, e_at‘.;:g.bda X+V+zZ=
Options:

« —1000
_ 1400
. 1000

. —1400

Question Number : 32 Question Id : 5500531632 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0



ath

- ‘ g o L, 8
If a.b are two unit vectors with [_a,b) =0 and ‘a—b‘ =1, then 2 cosg =

2. ben Go a5 0B, (a.b) =060k

a- B‘ =1 esond, LI)NY

2

2 +tleos =
2

Options :

L

1.4

Question Number : 33 Question Id : 5500531633 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the vectors a=21+3j-k b:4i—__i+3E and ;::piJr j-k are coplanar, then
-

a=2i+3]-k, b=di-j+3k &80 c=pi+j-k & %0 28D0rgd,
&‘JKJ_'):]Cf.J ‘éxg‘:
Options :



sl
E
=

-2

2
3 % A 26
490
4, % 4
Question Number : 34 Question Id : 5500531634 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Students of two sections A and B of a class show the following results in a test

conducted for 100 marks.

Section A | Section B
Number of students 50 60
Average marks in the test 45 45
Vartance of distribution of marks 64 81

Then

w8 351133 BoBD Boch Jerrrew A, B 0D 3@5%’0&@, 100 md:be.ae‘o 2008 w8

205" 306 Hdzred) FHomed.
Qerido A | dertio B
:’)w]ggm ~03) 50 60
0658”2 mmgjw 45 45
) © AROY O | 64 81
@@JC@J
Options :

variability of section B > variability of section A

2zrto B cams& DSdwHd > Jertio A ms;J R SEuPuth)
1.4

variability of section A > variability of section B

Lertio A c&.uéb DA0DHD > Do B o?mé& R[S Pl e
2. %

variability of section A = variability of section B

QDertio A Cﬁ)&)é?} LBNAD = Do B a0, STIRDD
3. %



The data is not sufficient to compare the variability of the sections

| Dereidne el B8T0\EIS $grosm 26
4.

Question Number : 35 Question Id : 5500531635 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A bag contains 12 two rupee coins, 7 one rupee coins and 4 fifty paise coins. If three
comns are selected at random, then the probability that the sum of the values of the
three coins is not an integral multiple of a rupee is

w8 2008 12 ot draran e, T Eraron TP, 4 J08 pne
T 0. & 20c) o) AP SO SPEh TEHOR JodS B, & LT TV

S0S0 Dewd ws Eraron :ﬁnégj t’.ggc‘)los (easo s“c“\‘)g ‘boe,rbyfa

Options :

12 7 12 7 9

7
C3




Question Number : 36 Question Id : 5500531636 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If A.B are any two events of a random experiment and P(B)#1, then P(: Al BC] =
AB e 28 airg g HAriod’ JRT Goct 0bden widr P(B)#] wand,
i\ P(A[BY) =

Options :

P(A)+P(AB)
1-P(B)

P(A)-P(A " B)
1-P(B)

P(A)+P(ANB)

. 1+P(B)
P(A)
.« 1+P(B)

Question Number : 37 Question Id : 5500531637 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A Dag contains 10 similar balls, of which 4 are blue and 6 are red. Three balls are
taken out at random from the bag one after the other without replacement. The
probabilities that all the three balls drawn are red is

28 %o08" 10 28 2766 wocenT™) 0. HBS' 4 dwo dordd LBatn 6 A
Borb. & o) 00c Surehd oSV, TP WoBR BB Syt wST
ST w38 ArE)\SorT ROLRD TR, & Qe A8 woBow By
ﬁﬁwéﬁﬁ\j

Options :

h| =

Question Number : 38 Question Id : 5500531638 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If A and B are among 20 persons who sit at random along a round table, then the
probability that there are any six persons between A and B is

28 o) g tobar airdySor Srddndy 20 &r08 éﬁgpuée A 080dw B ew
608, R\ A, B dud[ 57 estorixed dishen &od: oaridd

Options :

E|m

3.¢

Question Number : 39 Question Id : 5500531639 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

It is observed that there will be 25 blood specimens of normal persons, 1f 100 blood
samples are tested. If 10 specimens are sent to a laboratory for testing, then the
probability of having at least two specimens of normal persons 1

100 63 Ssarroi D8N TS’ 25 dduraren eBfHodws)
DT AN AT, 28 68 D08 Fodawd 10 ddurTroy 88 D083
?&oi}é@;}m, 49%0 986 durTw 030 fijdoowd SRS (B0 S



Options :

; dafay’
al4)
1, % “
1 13(3Y
2v A
11&3Tﬁ
- 4
, 10 o g /. T,
(3) (3) 1 (3Y) (1
-] 10— —=—asl=] | =
. \ 4 \4) 4 k4JL4,

Question Number : 40 Question Id : 5500531640 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If a cubical die 1s thrown, then the mean and variance of the random variable X,

giving the number on the face that shows up, are respectively

8 PSR 03, DS Swao P S Vo[ ArGS doTd X Ardy,
)\ X 00g), 20530600 00050 RS HDRT

Options :

2 2

35

[E—



¥ o 1Z

. 2 35
L
a1 B
7 35
A 12

Question Number : 41 Question Id : 5500531641 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

)
{

.tisa

1)
. X , a 1) a

The Cartesian form of the curve given by x :(E t+— 1, y= %‘ t—
t f -

;

\ /

parameter. 18

| b
L y= U2t oovom QDD HFo DAL a0,



Question Number : 42 Question Id : 5500531642 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a straight line L perpendicular to the line 3x-4y=6 forms a triangle of area

6 square units with coordinate axes, then the minimum perpendicular distance from
the point (1,1) to the line L is

3x -4y = 652% Lo &od AS¥ 8 L, Aaszod 6 .o DTVfo o
920 ) D6\Geiodooss, e (1) Docu) dood 6% G L & o 38
208 Grdo

Options :

’I.«'-«*’1

G

Question Number : 43 Question Id : 5500531643 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let a, b, ¢ and d be non-zero numbers. If the point of intersection of the lines

4ax +2ay+c=0and 5bx+2by+d =0 lies in the fourth quadrant and is equidistant
from the two coordinate axes. then

a,b. ¢, den 36 doaen, dax+2ay+c=0 b Shx+2by+d=0 Sae

20D Do) 4 oS GobP, WUFITTOL 4D GrdesS &ob, SR\
Options :

1.#31){:—23(1:{}
, » 3bc+2ad=0
- 2bc—3ad =0

4 x 2bc+3ad=0

Question Number : 44 Question Id : 5500531644 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the image of the point (3.8) in the line x+3y="7is (o.p).then ¢+ =

6% B x+3y=7 &, Dotody (3.8) aing); HBDowo (0.p)0ond, a+p=
Options :

1.23_1

2 % 3



Question Number : 45 Question Id : 5500531645 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The condition that the lines joming the origin to the points of intersection of the line

X ¥y . 2 % . g
21329 and the circle (x-a) +(y-b) =1 are at right angles is
a

20D, EJ% =2 o5 06962 2Bk (X-a) +(y-b) =1" esd

d
3y3800 206 Dotawd €92 Grn voworr gofah o oo

Options :

4w a2 b=

Question Number : 46 Question Id : 5500531646 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The square of the distance from the origin to the point of intersection of the pair of
lines ax” +2hxy-ay’ + 2gx+ 26y +c=01s

ax” +2hxy-ay’ +2gx+ 2y +¢=0 Garadofdn otid Doy Aot Hure
DOPAL Ao drdw ofmsb_ 00
Options :

f2+g
| v a +h’

e

L

3 .

- —=h

u HT=@"

Question Number : 47 Question Id : 5500531647 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If (k.1.5).(1.0.3).(7,-2.m) are collinear then (k.m)=

(k.1.5),(1,0,3).(7,-2,m) &0 23Dcsren wond, ey (k.m)=

Options :



Question Number : 48 Question Id : 5500531648 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

y B . i : G
If a line L makes angles —and — with the positive X-axis and positive Y-axis
2 :

respectively, then the angle made by L with the positive direction of Z-axis is

28 B L 65 X -080, 63 Y 050 & S0 §rren 3o = 8ot }
o,

903, O\ S L &% Z w50 & Sk Seao

Options :



h
—

2

Question Number : 49 Question Id : 5500531649 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The equation of a plane passing through (-1,2,3) and whose normal makes equal
angles with the coordinate axes is

(~1.2.3) Docod) oot ol S aog), wdwow T AFITFOS MAP
Srrody 8a, B9\ &8 SOXW 20&0ER0
Options:

| % X+y+Z+4=0

X—-y+z+4=0

2. %
Faeyraegac] — ()

3.« t

o % R L

Question Number : 50 Question Id : 5500531650 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let S =0 be the circle passing through the points (2. 0). (1. =2). (=1. 1). Then the
pomnt (1, 2)

(2,0), (1, =2). (=1. 1) Docodye oo b 9T § =0 oo, e.et’.a:)cb
(1.2) &3 Do

Options :

lies inside the circle S=0

. S=0 S0 "0 eotod

lies outside the circle S=0

, S =0 Sydo DevDY &otod
2. v

lies on the circle S=0

S =0 Sydo 0 &otwod
3. %

1s the centre of the circle S=0

4 % S =0 S0 cing) Sodo HS0L.

Question Number : 51 Question Id : 5500531651 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the acute angle between the pair of tangents drawn from the origin to the circle
X +y —4x-8y+4 = 0 is q, then tana =

AP0 Doty & X +Y —45-8y+4 = 0 Hoed3 AdD 26, Garatr) 0

maﬁ £90 (€900, O\ tano =



Options :

1 % 3/5

Question Number : 52 Question Id : 5500531652 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let C be the centre and A be one end of a diameter of the circle
x'+y -2x-4y-20 = 0. If Pis a point on AC such that A divides CP in the ratio
2:3, then the locus of Pis

X+ -2x~4y-20 = 0 @3 Sdo aiog) Sogo C oBatw s (o a8
T @308, w8 §& A windomro. (P 2:386" A Dgodtopwrr AC p
P 3 Dodoad) &od, )\ P aiog) Dotk tdo

Options :

x> +y —2x—4y—205 = 0
C2x* 42y —4x-8y—405 = 0

B a3 -
XV =X -4y -A30 = 0



4o 4" +4y" —-8x—16y—-605 = 0

Question Number : 53 Question Id : 5500531653 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the chord of contact of the point P(l. 1) with respect to the circle

S=x'+y +4x+6y-3=0 meet the circle S=0 at A and B, then the area of
APABis

S=x’+y +4x+6y-3=0 S0 dag"_s B(L, 1) & Dochos G, 18, &7
S=0 Szed) Addoin B od podivots, ey APAB @30 BTN
Options :

216
1% 25

Question Number : 54 Question Id : 5500531654 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If A and B are the points of intersection of the circles x*+y° —4x+6y-3=0 and

x*+y' +2x-2y-2=0, then the distance between A and B is
X 4V —4x46y-3=0&80%0 X +y +2x-2y-2=0 DTV DoKA Dodowy) &0
A Beoowd, A dboto B o &jio drdo

Options :

-2

6

x5

Question Number : 55 Question Id : 5500531655 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



oAy

A parabola having its axis parallel to Y-axis, passes through the points l O'E ;

A

. L, il
(4.-2) and | 1. F

. Then a point that lies on this parabola is

X =

i

/"
Y- o8 darodtor emd) D08 a8 prsuako | 07|, (4-2) oot
i 2| Doty tooe Feood. RN & DTBO0L0RR of 8 Doy
X J )
Options :
. (3.572)
, x (-1.2)

Question Number : 56 Question Id : 5500531656 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let the eccentricity of the ellipse 2%’ +ay’ -8x-2ay + +(8- ] If the

\/; .

major axis of this ellipse is parallel to Y-axis, then the equation of the tangent to this
ellipse with slope 1 i

2 +ay’ -8x-2ay+(8-a) =0 wd &¢ § S0 Y, &) 06 L oo,

N

& 46 Sido A Arsaw Y- exS Droddorr cofl, & A6 ST
TR0k w88 SDA% 6, G &80

Options :

K—y—lingo

Question Number : 57 Question Id : 5500531657 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let X — axis be the transverse axis and Y — axis be the conjugate axis of a hyperbola
H. Let x°+v" =16be the director circle of H. If the perpendicular distance from

the centre of H fo its latus rectum is 4/34 then a+b=
w8 eadnTdwodo H cﬁpéb @055 080 X — e9g 0. ‘boaﬁnm&im Y-e08 50

200080 Ao o X' +Y° =16 wRvre, H g Sogo M0 &
TDV0ErAS o woLETdo J34 e, )Nk a+b=
Options :

1.4 8

Question Number : 58 Question Id : 5500531658 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The equation of the pair of asymptotes of the hyperbola X :3) (}:2)~ =11
) L
LS L i), w08 0y 0arai,0 Givg)
3 2 :
20600
Options :

1. ®



o

2x°—3y" —12x+12y—-6=0

2x” -3y  —12x+12y+8=0

2. % 7

2x7 =3y’ —12x+12y—-8=0
3. %

4o 2X 73y 12X 412y +6=0

Question Number : 59 Question Id : 5500531659 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

. 52 Ly
i (2:Ey" (o™ B
x—u—Y X+9

Options :

1% 18 log(2.5) + log(0.4)
5 log (2.5)—log (0.4)

, » 18(10g(2.5)+og(0.4))

ro™ 19 log(0.4)



Question Number : 60 Question Id : 5500531660 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

: 1
- 2 3
Let S =1+3x+9x"+27x +...n terms and —?: X

) | —

If Lt S, =f(x), then

n—%

f(x) is discontinuous at the pointx =

§,= 1+3x+9x 27+, .0 drren dobodn —% cxel sl Lt S, =£(x)

3 3 I

0008, @)t (1) Dy S evalof Docor) X =

Options:

4% —1

Question Number : 61 Question Id : 5500531661 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let [.] denote the greatest integer function.

Assertion (A): lim [x] =1
=%y

Reason (R): f(x)=x~-L g(x)=[x]. h(x)=x and lim %18 lim LU l

X=X X E— X

[] 663 rros poosrd) Ardivesgod.

Q3 %o (A): lim m:1

X—= 1’(-

seoeo (R): £(x)=x-1 g(x)=[x], h(x)=x 8ok lin'l@:limh(—x):l

Inx ¥ Iy
Options:
A is true, R 1s true; R is correct explanation of A

A 2300, R 2di0w, A 0dng) 20ADR QS0 R
1.4

A, R are true: R is not the correct explanation of A

- AL R 20 28400, A 0308); 2BALD DD R 5760

A 1s true. R 1s false

A “n:e*_’sém. R @::’@5:"”
3. %

A 1s false. R is true

A e_r:-i::efstga‘.m. R ";aéém
4. %



Question Number : 62 Question Id : 5500531662 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The locus of the point on the curve y=sinx where the tangent drawn at that point

always passes through the point (0,7) is

VY =SIXH5%0 2 & Do) 56 i) 9\6, B IR | 0,7) Docod) T

JSB008, &8 Dockosg gy, Dothaideso
Options :

X =§=%

1. % g

, Sinx+cosy+1=0

21 2N (a2
30 X I=y)=(y-m)

x*+(F—=m)=0

Question Number : 63 Question Id : 5500531663 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



f(x)

f(x) and g(x) are differentiable functions such that ﬂ: a 11011 Zero constant,
g(x
If @:u(x) and| ) =f(x). then M:
g(x) \&(x)) a(x)+B(x)

f EX; = w8 %d o egcfn}geagpm f(x) 08050 g(X) w0 otk BS%AAD PAALF.
g(x

f'(x) =0(x) So80kw ‘ @ | :B(X) 000, @@;}m w:

g(x) g(x)) 0(x)+B(x)

Options :

1. %0
- f(x)+g(x)
3.0 1

oo P+

Question Number : 64 Question Id : 5500531664 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



- ax’-bx+2,x<3 . | _
Hix)=y . is differentiable at every x € R, then the area
bx'-3,  x23
. oy e , X F .o . .
(in sq units) of the triangle formed by the line —+==1 with the coordinate axes is
a

o

ax’-bx+2 x<3
11‘;}:3—3. X>3

NirHs wped 6\63 Jabas DT0(o (&5, e ')

20 xeR38 f(x)= wdg0dabo Bad, N Ef%: | B
a

Options :

IS
1% 8l

[—
~-
h

]

Lad
Lh

2
|

(=1
-2
N

-2
|

Question Number : 65 Question Id : 5500531665 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A(-2.9) and B(l.6)are two points on the curve y=x"+3. The coordinates of the
point C on the curve such that the tangent drawn at A 1s parallel to the chord BC, is

y=X+5 d80 > A(-2.9) 80k B(L6) e Botds Dodadyen. A Dot 3¢
RIARY 26,82, &) BC 0 2eroddorr Golibitn &0t & 802 (o Dochaiy €
QETOee0

Options :

., (55.30)

)« (0.5)

.« (-9.86)

4w (6.41)

Question Number : 66 Question Id : 5500531666 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

4

at the points of intersection of

2

-

1+3x

If all the normals drawn to the curve y= %
3+X

el
1+3x

3yl

I+X

y= and v =1pass through the point (ct,f), then 3o+20 =

2 =

14+3¢° 143
T 3508, y=18080ty Y= $50 0t Docoidw 3¢ IR
3+ 3+X

) wdvow Gen (0,B) Dotk tbor o', By 3u+2p=

y:

Options :



2. % 2
=2

3. %

'

Question Number : 67 Question Id : 5500531667 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The equation of the normal to the curve y = coshx drawn at the point nearest to the
origin s
y=coshx $g02, duredotdHd WABHIT €:) Do) 96 AR ITADINGE)

qaw) Henddo

Options:



Question Number : 68 Question Id : 5500531668 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let ne(0,=). If all the curves y=x"logx for distinct values of n. always have
y=Xx-1 as the tangent drawn at a fixed point (at. f). then ¢+p=

nE(0,) waogsomro. 0 AVE), De‘aal DeVBVL, I Y=X logx en Gﬂbl
y=x-18 Jo\r a8 f‘gdef)od:@ (0, B) 3¢ (I 6, Baorr 89 &0,
?.‘JQ)JC&J a+ B =

Options:

Question Number : 69 Question Id : 5500531669 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If £ (x)is a function such that f'(x)=4/f*(x)—1and £(0)=1, then f(1)=
f(x)e0® Dok f/(x)=4/f*(x)-1 “08osn £(0)=1 Eﬂdijéé.)gpoﬁ, f(l)=

Options :



Question Number : 70 Question Id : 5500531670 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Assertion (A [mex] dx =0, where [] denotes the greatest integer function

ra ] : 4*—-;,r\.-|l‘_"‘|”

Reason (R):2smx is a decreasing function in [

M|:-|
rq|i;i]’
T |

il
=

b3 .-.u"-—-.u;-|.

daydo (4): |[2sinx]dx=0, [] A6 rdos prabamy rdined.

. 3
600 (R): 25X @26 E.;}Sﬁ w8 0380 Hdohaw

Options:



Both A and R are true and R is the correct explanation of A

A 200080 R a0 Gocr 2d(0 2000in A G3g) DGR DD R

1. %

Both A and R are true but R is not the correct explanation of A

- A 200050 R e Goter 2o, o3 A C30E), DGN D8 R 5°¢w

A is true, R is false

3 A i::e:‘a}go._ R e.a"roe:’950

A 1s false. R is true

A e::r"n:e:‘;?gc::._ R Jn)l’j?gﬂ
4.

Question Number : 71 Question Id : 5500531671 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

\

dx (X |
If J.—_:tan‘ ——0 |+C. then 6=
l1+smx 2 /

f N

Jm: tanL%—BfC‘ 0B, Y\ 6=
Options :

R
1. % -



=

ol -

Question Number : 72 Question Id : 5500531672 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

f Bl-i-x _!_41—1: &
|22 | ax -
Options :

——+4x+C
, % log2
X
8§ ———4x+C
, x log2
rj.X
8. — _}:—4x+(‘
;o log2
?H
—— —4x+C
log2



Question Number : 73 Question Id : 5500531673 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

1000
If [.] denotes the greatest integer function. then I e g =
0

1000
[] 68Q 278 0wy HRaLEVH ArdY, ey [ e ldx=
]
Options :

Q1000 _ 4

.« 1000

» 1000(e—1)

Question Number : 74 Question Id : 5500531674 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



3
I I= J A3+ x+x* dx. thenI lies in the interval

1

3
I= ‘[ V3+x+X° dx eond, 3\ I &0 @osto
1

Options :

(245, 2415)

1.+

(/3. 245)

2. %

T

3. %

% {2\/1_‘;@]

4,

Question Number : 75 Question Id : 5500531675 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The area bounded by y—1= —‘K‘ and y+1= M is

STTOB DOGID HTV0

}e’—l:—‘x| So8ain y+1=[x

Options :

ko | —



Question Number : 76 Question Id : 5500531676 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

4
[ tan’ xsin® xcos® x dx =
e
Options :
T
16 x—
m
1, % ]
2
8% —
2. % =
i 1 2
16X —x—Xux—
3 % 17 15 3
4.v 0

Question Number : 77 Question Id : 5500531677 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

$(x) cosx

( \
Givemhat{—l j f(f)dt=£(¢(x))¢'(x). Forall xe; O.% ‘ if j t*f(t)dt = cos 2x.
ax 9 ¢ =y 1

4

then f

A \/E /

q% , b w
- ! E(1)dt=£ (§(x)) (%) @ d@is. o) xe | U,EJ 0%
'“"fx ; 5 ‘f‘ |
tf(t)dt = cos 2x wond, ¥\ | —
1 4k

\

J

Options :

Question Number : 78 Question Id : 5500531678 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



dy ) .
2 =cos (Xx—vy-1) is given by x =
X

The general solution of

d}r =cos’ (X —y —1) Bwg), Fodes FSD x =
X

Options:

C—cot(x—y—1)

1.¢

- C—-tan(x—vy+1)

3 % y+Ceceot(x—y-1)

4w Cy+tan(x—y—1)

Question Number : 79 Question Id : 5500531679 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The degree of the differential equation log" 4 =[ 2x+3 0y is
\dx ) \ dx
(dy) | dy \
gD HDY6mo log| ~= | =| 2x+3- | GA0E), SBKS
\ dx A dx ;
Options :
1% 1

2. % 2



not defined

365&0156&.13
4.

Question Number : 80 Question Id : 5500531680 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If y=y(x)is a particular solution of y1-x %-l— y=X, y(0)=1, then

i

l-%

de 2x
I-x° EJ.P = y=x, y(0)=1 a3wg) (¢ P y=y(x) wand,

Focolt
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Question Number : 81 Question Id : 5500531681 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The density of a substance is 4 g/cc in a system in which unit of length is 5 cm and
unit of mass 1s 20 g. The density of the substance in CGS system is

e ©drea0 § em SoBok ¢y o3 Pareao 20 g &y s a’xg@ﬁs w8 DY
Fogdd 4 glec ewond CGS aag@ﬁ* 8 DY o
Options :

| % lounits

, % 40 units



7 e
P 25 units

4 % 20 units

Question Number : 82 Question Id : 5500531682 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A truck of mass M and a car of mass — moving with same momentum are brought
10

to halt by the application of same breaking force. The ratio of the distances travelled
by truck and car before they come to stop is

SEVEJe RN 8 Schendod) M dioa do g sy, dakw % B0
o 28 TER DArd B TRy HOrfon) D80 NS By, By oBoko
St Jayo DOS SEG'R Hosrend drore G

Options :

v 10

5 % 1:4/10

5 = 100:1

Lh
[——

Question Number : 83 Question Id : 5500531683 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A car 15 travelling at 30 ms” speed on a circular road of radius 300 m. If its speed 13
increasing at the rate of 4 ms™, then its acceleration is

{60 300 D o 8 ST B dowd w8 6 30 ms” 938 K008
208, 6> 96 4 ms” Gend DLHER D8, & T S0

Options:

=
1 % 2.7ms

2
, % 38

=2
3 x 4ms”

- ._2
4. > 1msS

Question Number : 84 Question Id : 5500531684 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

n

A motor boat 1s moving in a river with velocity v="Ti+2 1-5 kms™, If the flow of
water offers resistive force F=9i+ %J ~3k N, then the power of the boat is

8 APERD D6 966" v=Ti+2)-Skims™ Sriod T\ 8. pero S

DB eewoF=91+3j-3k N wond &5 artrd véd 080

Options :

Lk 13W



L % 69W

L e 12W

L o 84W

Question Number : 85 Question Id : 5500531685 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The force required to stop a body of mass 10 kg moving along a straight line path
with a velocity of 10 ms” inatime of 105 is

w8 DY B 8ol 10ms™ Sriod Hosredoctoctys) 10kg G073 o a8

S0 10 s 008" s SeHSVD D
Options :

.« 10N

, % 1000 N

, » 100N

4 % I N

Question Number : 86 Question Id : 5500531686 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A truck of mass 2000 kg is moving along a circular path having radius of curvature
10 m. If the banking angle is 39°, then the maximum permissible speed of the truck

i

(Acceleration due to gravity = 10 ms™, take tan 39°= 0.81)

DT m}g&d@o 10m do w8 STrsed s’mgo 2o8c, 2000 kg ngcr’%’ o ws L)
S9reoB. & ArQ SopEio 39° (erfodof §emo) o & Ly & edoers

CSQ d&f.eg, ¢

(oo &qdeao = 10 ms™, tan 39°= 0.81re S8 i)
Options:

14 ms™

5 % > ms

3 % 18mS

5 i
4 9 ms

Question Number : 87 Question Id : 5500531687 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A spring has a spring constant 200 N, Ifit is stretched Dy 1 cm then the potential
energy stored in it is

28 30f, 200 Nm! 0h E’gmosﬁl 5§ &od. T 1 cm FHEDDH, TS dex
cod 93 43
Options :

% 1007
, » 00117

L. 107

g % L

Question Number : 88 Question Id : 5500531688 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The work done in moving a body of mass 2 kg to a height of 4 m from the surface of
the earth is

(Acceleration due to gravity = 10 ms?)
@3 2 kg iR 28 SR BraBduo ot 4 M I S\

BNV DA

(fbebed &qdeso = 10 1115'2)

Options :

107

1. &



, %207
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Question Number : 89 Question Id : 5500531689 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two bodies of masses 12 kg and 6 kg are projected simultaneously with velocities
15 ms™ and 20 ms™ respectively from the top of a tower of height 25 m. The body of
mass 12 kg is projected vertically upwards and the body of mass 6 kg is projected
horizontally. The maximum height reached by the centre of mass of the system of
two bodies from the ground

(g=10 1115'2)

25 m Q0 o w8 Fdo 2 rtio Avad 12 kg &ydodw 6 kg Gdyorgoe o oty
SR0RR) ST 15ms™ dodatn 20 ms” Sred phgo S, 12kg (o3
o DDA £ wowor P8, 6 kg G073 o HRYD £ VAreddorr
AT, Boty SRVPY B[ SodS BT"3 D ot B (1822 IS

(g=10 ms'z)
Options :

1 % om

25m

3.¢
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50m

Question Number : 90 Question Id : 5500531690 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following statements is true regarding the vector product of two
vectors?

Sots oD J’s‘*zg@eﬁﬁ Gocty dB 30 VAT VIS Mowolod) HOEHHA D8?
Options:
The vector product of two vectors changes sign under reflection.

DT°DGR0 DVD G0k REFL DATVWO0 OB 20780\ S Ro.

1. ®

Vector product is commutative.

DET OO0 DSB[oBE THOETrAY) Jehocoay.
2. % ©°

Vector product of two parallel vectors 1s a null vector.

Coc¢) VA0SO VOB “n::&?ﬂmé:uc ws Wés DEE
3

Vector product of two vectors is a scalar.

Cocy 2DEBY m&?ﬂue{gc S 9B
4, %



Question Number : 91 Question Id : 5500531691 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The equation of motion of a particle executing simple harmonic motion is

d’y
dt’
oscillation of the particle is

4—+7ny=0 where vy is i metres and t is in seconds. The time period of

d2 [
NGV ST S U0 Ef:odmﬁ;}él 208 Se90 0D A0 4 i ? tmy=0, 996y
2

Qe oBokw t ddoge’, S0 g EumTdgd o
Options:

1_Hls

2. ® 28

4¢4s

Question Number : 92 Question Id : 5500531692 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A Dblock of mass M hangs from a spring and oscillates vertically with an angular
frequency o. If the block is removed from the spring, when it is in equilibrium
position, the spring shortens by

M ¢0°3 fo a8 B30} w8 Dyofi do0d Hercadr §8a vonorr Sead i
6 o 3, o 3

0 & Evdo Soud) &, B AR g*%{m B &)\ T @oﬁ

A00d Fohotd, 210 &' Hidoxy

Options :

4 [=]

)

c

=
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Question Number : 93 Question Id : 5500531693 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The vector form of universal law of gravitation

S%Smdawgsgm oo c&ms‘% 2ET Do

Options :
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Question Number : 94 Question Id : 5500531694 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The pressure required to decrease the volume of 4000 cc water by 0.05% is

(Bulk modulus of water = 2.2x10° Nm™)

4000 cc & 208083750 0.05% SAoSErAS SHBVD DB

(& cinog) esafresed reago = 2.2x10° Nm™)

Options :

11x10° Nm™

5%10° Nm™
2. %



. 22x10° Nm™

A 1.1x10° Nm™

Question Number : 95 Question Id : 5500531695 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A 20 g copper block is suspended by a vertical spring causing 1 cm elongation over
the natural length of spring. If a beaker of water 1s placed below the block so that the
copper block is completely immersed in the liquid, the elongation of the spring i

(Density of copper 9000 kg m~, Density of water 1000kg m~, g=10ms™)

20 g 55073 ffo 28 o0 B A 28 ?\3;}05 & e B, e @oﬁ & 1 cm
Fibse SHANA. & T B, PET hee SR ws DS & A 283, &
?905 g Sedoy P

(08 ok = 9000 kg m™ D& Focsed =1000kg m™. g= 10 ms™)

Options:

| % 0.25 cm

5 % 0.15cm

3 % 0.78 cm

4 0.89 ¢cm



Question Number : 96 Question Id : 5500531696 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A 50 g ice cube at -10 °C 1s added to 200 g of water at 30 °C. The final temperature
of the mixture is

(specific heat of water=1 cal g °C™", latent heat of fusion of ice =80 cal g”'
specific heat of ice=0.5 cal g™ °C™")
-10 C ¢ o> 50 g oochord 30 °C 56 o 200 g DR 588 & M0 GRg),

08 egﬁga

(8 Dadfadw =1 cal g™ °C dooehy A 00=80 cal g™ ooy D

=05cal g™ °C™)
Options:

. 207

Question Number : 97 Question Id : 5500531697 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



T

The relation between volume (V) and absolute temperature (T) of a gas in an
adiabatic process is

W ?gaﬁgs 23008" 28 TPab0) A D8I (V) odaky DB egjg@ Mo
éJcﬁé 2080060
Options :

TVY = constant

TVY = borogo
1. % ®

VTY = constant

VL = ?E’amﬂoﬁo

TVI~Y = constant

TS = f’{gﬂ“uéo

TVY™1 = constant

AR = ?{gu‘*oéo

Question Number : 98 Question Id : 5500531698 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A diatomic gas has an initial internal energy of 80 cal. A work of 18 cal is done on
the gas and the gas releases heat energy of 42 J. The final internal energy of the gas is

w8 ﬁsbdmms T030) a3s), &Y wodds #2 80 cal. Taiwe) ¢ 18 cal H
Sabed, esarosnd) 42 1 egoal DES0 By, B0 AR08), S oS 83
Options :

% 2017

L, 369.67

5417

20 cal

Question Number : 99 Question Id : 5500531699 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Three moles of a gas at a temperature ‘T" 1s heated to thrice its volume by keeping
the pressure constant. If *y" 1s the ratio of specific heats, then the increase in internal
energy of the gas is

T eatse $96% 3 306 © o) oS0 3¢ & D080 3 B
akfod 569 Scdabucdt. Tay Do Ayd 1 vand, Toind) wodds
$36°0 prhew

Options :
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Question Number : 100 Question Id : 5500531700 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The energy (in eV) possessed by a neon atom at 77 °C is
(Boltzmann constant, Kg = 1.38 x 1077 ] K'I)

o3 eveHN < 77 °C egga SS DD 33 (eVes?)

-23

(e5° 208 Doroso, Kp=1.38 x 107 TK™)
Options :

| = 1.32x107

. 4.52x107



4 % 3-88x107

Question Number : 101 Question Id : 5500531701 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The equation of a stationary wave is y =20sin(nx)cos(ot), where X, y are in metre

and t 1s in second. The distance between a node and its adjacent antinode is

ws f’gd $6ord Hagdmo v ="20sin(mx)cos(ot), PG EX YW Dots6 & Hobako t

RS, 02005 SBOK TP AT DRYOEN LOEHPY S| Erdo
Options :

1 % 25cm
, « 100 cm

3« 20 cm

4 % 200 cm

Question Number : 102 Question Id : 5500531702 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If 11, 17 are the angle of refraction at first face and second face of a prism, then the
angle of the prism 13

11, Ty €20 SEIP Diago AR08, AWK, Tocd w30 B¢ B335 Erasdwen R

8 8o
Options :

| i
1% L2

Question Number : 103 Question Id : 5500531703 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

When a light ray incidents on the surface of a medium, the reflected ray is
completely polarized. Then the angle between reflected and refracted rays is

28 0irds 00800 w8 5708 S8r0 DSVNY YD, DU°HBS S6E0 PorT
8)000 BoBIB. oS VBB B H3FIY S8 | S0
Options :

45°

1. %



Question Number : 104 Question Id : 5500531704 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Among the following the charge that does not exist on any type of charged body 1s

& 308 TS S1980 SIS Do G e rod S g o
Options :

% 32x10°C
, x 6.4x107° C

=20 ~
L 9.6x10%°C

4 % 9.6x107° C

Question Number : 105 Question Id : 5500531705 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Eight drops of mercury. each of same radius and same charge combine to form a
bigger drop. The ratio of capacitance of the bigger drop to that of each smaller drop
is

28 wDtAw, a8 J°55“gm o 8 Zjadrgjéé D) DochaHen o g DY
Dotody :)cﬁbcma. R\ ¢ Dochad), HA D) Dockosy) T, ENGIAS
VSN
Options :
| w o

4:1

3 ¢ 2:1

4 % 11

Question Number : 106 Question Id : 5500531706 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The given circuit shows two capacitors connected to a battery. After the capacitors

are completely charged. the battery is removed and the capacitors are connected
with plates of opposite polarity together. Then the charge on 2C and the energy lost
in the process are respectively

008" Boch BFVRD w8 r(ads SLodRAND. SFVRE QFHT YIS
ST r{dd GBS, & SFVGD T8 HBB8 8DV Do THI
49, 29000 2C 36 b DT Bakn & pdoe’ 33 S

DLVDL) AV 2C

—_—
—_— l'“‘\

Options:

2.¥ =

Question Number : 107 Question Id : 5500531707 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Two cells with same emf E but different mternal resistances, 11, and 1, are connected
in series to an external resistance R. If the potential difference across the first cell is
zero then the value of R 15

@oé&g_gmw 11, 17 08030 Ddrd 335&3595 a“‘b&)é aeren, E o Goch utrodd
335" R ey QEeeAS SOFD. et otosdnd D THI0E Sesiind 07y
o) R’ Qensd

Options:

=1

)
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Time:0



Choose the correct option with respect to the statements A and B

(A) : When no electric field is applied across a conductor, the path of free
electrons between two successive collisions in it is straight

(B) : When an electric field is applied across a conductor, the drift velocity of

electrons is independent of time

A baio B purosh dozotoc) OGN D5 Jivy S dodw.
(A): &8 Tirdod’ DS ETrd) wRBGoBD IS’ ATy TR
0000 Boctd HED WDIFTY e w8 2EYBD

(B): 28 Tirdoss” A8 ETrd) wRSBAN JoTD ¢ Stfo U

Elnlerslnlab)
Options :
A and B are true

A, B &0 2860
1.¢ e

A 1s true and B i1s false

A 285038 208050 B H8GHIE 26
2. %

A 1s false and B i1s true

A H80008 5°6%, B ©8aH08
3. %

A and B are false

. A, B 20 2000D 57,
4.



Question Number : 109 Question Id : 5500531709 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A cyclotron’s oscillator frequency is 20 MHz. The operating magnetic field for
accelerating protons is

(charge of proton=1.6 X 10™ €, mass of proton = 1.67 X 107 kg)

w8 PEERS o J09d50 20 MHz. Jerday d(do mocsemdd eocdwnd

DEPRRRAR) 08 Eo
(Yo wdto = 16x 107 C. Ferso dis02 = 1.67x 107 ke)

Options :

.« 0.66T

Question Number : 110 Question Id : 5500531710 Display Question Number : Yes Is Question
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Time:0



A straight wire carrying a current of 12 A is bent into a semi-circular arc of radius
2 ¢cm as shown in the figure. Then the magnetic field due to the straight segments
at the centre of the arc is

0608" e dore 12 A DAND VTR0 PIPRVD) B &0 2.0 cm
a"sﬂﬂgo &) 8 H)B TR0 HoT . G) Q) VLY HY T Sogo e

WO 08 Eo Jensd

12A

Options:

L% 12T

2 # 6T

5% 24T

4.v0

Question Number : 111 Question Id : 5500531711 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following do not exist?

208 3295 &3S’ FDD AD?

Options :



Electric dipoles

. DES BT e

Electric monopoles

. DS ISy

Magnetic monopoles

00030 & DS aTre
3 v 5750 >0

Magnetic dipoles

. ORI, 08 BTN

Question Number : 112 Question Id : 5500531712 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The self-inductance of a long solenoid of cross-sectional area A, length / and n turns
per unit length 1s given by

Jz0d TR 1 chrtw $DA, S0es(E\¢5 DTRN0 A, Ty 1 6983 w8 Teartd
FDironé B abo DS
Options :

|« UonAl

2
, o HoT Al



L Hon?A%

4 % Hon?mA®L

Question Number : 113 Question Id : 5500531713 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A resistor of resistance 40 Q, a capacitor of capacitive reactance 20 Q and an
imductor of inductive reactance 50 Q are connected in series to an ac source of 100
V. The current through the circuit is

40 Q Dcto o w8 B0, 20 Q L& HOBe0 o 2 3FHE Kbk 500

2058¢ O8G0 o we Hugo 336" 100V ac 2R3 FLVWEA. D0
Q0" D05 DAD PTiro
Options :

. 05A

2. % LA

iv LA

Question Number : 114 Question Id : 5500531714 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

To heat the food containing water, the frequency of the microwaves used in
microwave ove is

QB $9 &0l esi¥bo e d3R Do) BELDD & eddirfodd § Sdorre
3"&;@&50
Options:

independent of the resonant frequency of water molecules.

i DE evcaddH® TS ir“és:g_)égo 2 eCTEDERD.
1. T

equal to the resonant frequency of water molecules.

- DE evcaddHD 90T i)‘éf‘..;:_‘)ﬁj&%'}% HATeDo0.

100 times the resonant frequency of water molecules.

. D €939 IROT°E FEDT§DS 100 3.
3,

-
e times the resonant frequency of water molecules.

1
D& evrH® vROT S TS 60 Gew.
4. %

Question Number : 115 Question Id : 5500531715 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The threshold wavelength of a photosensitive material 1s equal to the frequency of
H, line of hydrogen. If a photon whose frequency equal to the frequency of H, line

of hydrogen is incident on this photosensitive material, the maximum kinetic energy
of the emitted photoelectrons is

(R —Rydberg’s constant, h — Planck’s constant and ¢ — speed of light in vacuum)
w8 T arg) {8 DErgR) Bdod mszméo r&ad H o2 aos)
FIYTOS drdo. grEad oy H, 8 Fded(03 ddrddd
JHR)A[0 o w8 Ferdy & T arg) margs DIdon DENYE GO0
T dogow 482 (02 #3

(R-8ey6 fgmoéo, h- o8 ?{%D"oéo SBotw ¢ - ey oirdgod’ s0d 5)

Options :

; » Rhe

5Rhc
>« 144

7Rhc
3 v 144

Rhe
4. % 36

Question Number : 116 Question Id : 5500531716 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



In hydrogen atom. if an electron m the orbit with principal quantum number ‘n°
Jumps to the first excited state, the wavelength of the emitted photon is “A". Then
the value of n is

(R —Rydberg constant)
TE D DOAFVPHE'D N HEF T80 Vo[ 28 S8( W0l w8 JTR
A8 eed Favs DASYD errtiond Ferds ddorgdo ' 1. eavdn

QD

(R-8cy6 fé}:}c‘*oéo]

Options :
40R
- AR +4
43R
AR —4
2. ¢
AR —4
o« V4R
AR +4
L« VAR
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Time: 0



The following is not used as a nuclear fuel.
308 To805° A Fods RoGIoTF TED.
Options :

uranium

| % C308dabo

thorium

, x &8ado

plutonium
- 285" dasvo
titanium

4 e dado

Question Number : 118 Question Id : 5500531718 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A radioactive material whose half life period is 2 years weighs 1 g and is stored in
the laboratory for 4 years. Then the amount of remaining radioactive material is
98ISR0 2 oIS (0 | g 0EarErE) S DEFT) 4 RodSTR FeD
DTl SEHEN, DD &) Do

Options :



4« 0.0625 ¢

Question Number : 119 Question Id : 5500531719 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In a transistor circuit, if emitter and collector connections are interchanged then
28 gb:lfgé S SCERIVEY 50663 AR, WRVROTTVR VGG
SN
Options :

emitter cuurent will increase.

&6 DA DITP0 DEAD.

1. %

base cuurent decreases.

B0 RS DI"ET0 S,
2. %

collector current increases.

| 03888 DS DITTr0 HANDAD.



no current flows in the circuit.

$50050083° D0 DTTETCEAN G0 .
4, %

Question Number : 120 Question Id : 5500531720 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

For an amplitude modulated wave, the maximum and minimum amplitudes are 12
Vand 3 V respectively. Then the modulation index is

0253 HOVS ST Bodd Sdoro 1B At AL S0 HEBY
SERTP 12V 2080t 3V eani ovd aredad A

Options :

. 0.4

, % 0.9
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Question Number : 121 Question Id : 5500531721 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

In which of the following, orbitals are correctly arranged in the increasing order of
their energies?

306 TS BAahoth e8ytre ev T8 $r DA ol O ity BErow?
Options :

1 % 4f < 5p < 5d < 65

, o SP<4f<6s<5d

3 ¢ P <6s<4f<35d

Question Number : 122 Question Id : 5500531722 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



; . _ih g
The energy (in J) released when an excited electron of 5™ orbit of hydrogen atom
returns to its ground state is

T V8w €5 S 95§ 6 6380 20 & &) JoFD T Ard § 36
SR\ Do 38 (o &)
Options :

-18
. »2.091 X 10
-18
, x 4.182x 10
6.273 x 1078
3. ®

” 18
4w 8:364 % 10

Question Number : 123 Question Id : 5500531723 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The ion with smallest radius among the following is

208 T35’ o S aﬂéﬁﬂgc SOAD 903D

Options :

2+
| % Ca

-~

Z.QK



44
T1

I+
4 % SC

Question Number : 124 Question Id : 5500531724 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The correct order of the metallic nature of the following elements is
306 LresY &' WD DOELH Fodw

Options :

1 % S1>Al>Na>Hg

5 Na> Mg > Al > Si

- Al>Mg=>Na=>Si

4 » Mg=Na> Al=Si
Question Number : 125 Question Id : 5500531725 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following
List—1
(Hybridisation)
A. d'sp2
B. sp3
C. dzsp3
D. sde
308 T wSHHEXSD

T —1
($08656820)
A ds.p2
B. sp3
L. d25p3
D.spd
The correct answer is
DOADD DaArEEdo

Options :

- A-IILB-LC-IILD-1IV

z.ﬁﬁﬂ—LB—H._ C=—1k D—1IN

3

, x A—-IV.B-ILC-ILD-I

o A= BTV €T T 1

List—1I
(Shape)
L. Square planar
II. Tetrahedral
I1I. Octahedral
IV. Trigonal bipyramidal

o —1I
(wsm@)
I Do 5806
I1.c5806), DA
III. e953 oD

IV. 88 rergsdo



Question Number : 126 Question Id : 5500531726 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The hybridization of central atom of CIF,. NH,. SO, are respectively
CIF,. NH,. SO, &0 08¢ 08:Are:)0 20885868500 HE0M

Options :

- sp’. sp’. sp’

3 :
L 5P d. sp’. sp
. sz_ sp3, spgd

3 3 o3
., Spd.sp”. sp

Question Number : 127 Question Id : 5500531727 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

At T (K). a gaseous mixture of Hy and O, containing 20% (weight/weight) of H;
exerts a total pressure of 2 bar, What is the partial pressure of O, (in bar)?

T(K) 6, Hy dvboto 0 © aasw 3d0ane’ 20% (2rdo/2rdo) H &R0)
008 S0KE o 2 bar ev wad 0, G0g), PES 2cd30 (bar &) doed?

Options :



v 0.4

4% 0.6

Question Number : 128 Question Id : 5500531728 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The following data is obtained for one mole of a gas

The gas behaves as an ideal gas in the pressure range (in bar)

w8 XS TN $08 dTroto wHoded. O o (bar v&’) wSE (range) &

TR 8O, oM HGothdAn?

PV
P(bar) | gt
1 1
2 1
3 1
u 1.5
5 2.0
Options :
1 l1to3

> x 1105
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Question Number : 129 Question Id : 5500531729 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

X g of methane was burnt completely in the presence of oxygen. The liberated gases
were passed info a solution containing 370 g of Ca(OH),. The weight of white
precipitate obtained was 500 g. What is the value of X (in g)?

(Given: C=12: H=1:Ca=40:0=161)

wyad ddged x g v B K0 PO Docoer. HSVOND ok,
370 g © Ca(OH); o grastao &'33 Dosoerd. I6\G Sl wdED erdo 500 ¢, X

Densd (g 0d’) Jod?

(e : C=12;H=1;Ca=40;0=16u)
Options :
. % 16

80

160

4 w 120



Question Number : 130 Question Id : 5500531730 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of extensive and intensive properties in the following list is respectively
Mass, temperature, pressure, enthalpy, heat capacity, internal energy, density

306 9 & doi) D BBk thrd G Doy ST

g3, &, R, aogvéb, i, ©odls 33, Jrogd
Options:

| * 2,5

. ]

L
-2

Question Number : 131 Question Id : 5500531731 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If one litre of an ideal gas at a pressure of 20 atm expands isothermally and
reversibly to a final volume of *X" L by absorbing 92.12 L.atm heat, ‘X" (in L) is

20 atm 0 S 28 Dotk 06\ T U0 VAP egajm%om 2GS B08
dBSresw X' L £ an?gg“’mess 92.12 L.atm egnal Berodd, ‘X (L g

Options:



1. % 200

, x 20

10

4 100

Question Number : 132 Question Id : 5500531732 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Observe the following equilibrium

Fe*(aq) + SCN"(ag) = [Fe(SCN)]" (aq)
yellow  colourless deepred

Addition of aqueous oxalic acid solution to the above equilibrium
S0l ‘rbb_)@v?g@ﬁ) 283 Dot
Fe"(aq) + SCN (aq) = [Fe(SCN)]" (aq)
FOTALTS) Soth Sk Fobtlnble b obre)!
o) ﬁaéo@*};:’ge‘iaé 20 @575 8Dy DI
Options :
Shifts the equilibrium towards the formation of [Fe( SCN)]I+

[Fe(S(‘N)]2+ DG\ P DBTRS 26D (shifts)

1. %



Deep red color increases

- SOVEE DS o DB

Intensity of deep red color decreases

206> B o Bgeadd (intensity) Sridw
3.v

No change in equilibrium

DTG D3S” DG GO
4. ® G & o

Question Number : 133 Question Id : 5500531733 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Observe the following species

AICL,,NH,.H*, Co’","OH, Mg**. BE,. CI
How many Lewis acids are present in the above list?

208 2R HDBIDoctBAW

Tp

AICL,.NH,.H*, Co*. OH, Mg®, BE,, CI"
D DTS PO BV Vo] JoS?

Options :

1.4 2

o x4



Question Number : 134 Question Id : 5500531734 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The compounds having coordinated water are

SESENEE HABT2DOD oo Zo Do) Farew

CrCl,.6H,0 BaCl,.2H,0 CuS0O,.5H,0
I I1 I
Options :
I1. IIT only
- IT, TIT &oeedado

L. III only

I TIT s
2.9 -

L. IT only
O LIT saoegdao
3. % -

4« LILTI



Question Number : 135 Question Id : 5500531735 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Among the following, the incorrect statement is
Sob TS, D& DOD T ST?
Options :
Cesium forms superoxide

D00 BPDE BF\E R0 AG ER0S

Sodium peroxide is paramagnetic

Jdopo DOFE DT 0T, 08 B Fdo

Lithium chloride is deliquescent

D&ate E3E B0 AT DEego

White metal is an alloy of lithium and lead

D& oS Ao LdaiL SE © BS o

Question Number : 136 Question Id : 5500531736 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The standard electrode potential (in V) values for AP"/AL TE*/T] are respectively

APYAL TE/Tl o pdrn JuSE 57j0(V 06) devideo St



Options :

-1.66, -1.26

+1.66, +1.26

-1.66, +1.26

+1.66. -1.26

Question Number : 137 Question Id : 5500531737 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following
List I

A. Carbon black

B. Graphite

C. Diamond

D. Activated charcoal

08T 2806B0E.

o |
A. 57630 &0
B. 8
C. 8ol

D.edad o6 §S

C-1I

C-1III

Options :

1% A-TIV B-1III C-1I
, » A= -1

L« A-V  B-I

svA-IV B-I

C - III

ListIT
I. Electrodes in batteries
II. Extraction of metals
ITI. Abrasive
IV. Filler in automobile tyres

V. Air conditioning system

&rdoe 11
L erjebed’ JOSE w
1. §'5Fo Dy Gevo
I1I. e9308 o (Abrasive)
IV. e385° 08¢ &6e8° Deb

V. dawd Soci#,d0h Do

D-1I

D-V



Question Number : 138 Question Id : 5500531738 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following reactions is not correct?

Zocs @BLAD aﬁd?ge_:reﬁﬁ DB DTS 57E?

Options:
Zn
CH,Br— CH,Br ——= CH,=CH,
1. #
&S Lig. NH, H:C -
CHy ——C=C—CH; > >—<_
N CH
2. % : H :
e H20
CHy —C=C-H : > CH, —CH, —CHO
+ +
3.¢ g, R
Na
Ph—CH, —Br » Ph—(CH,), —Ph
4 % & Dry ether

Question Number : 139 Question Id : 5500531739 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The correct order of boiling points of following molecules is

(1) n — Hexane (i1) 2-methylpentane (1i1) 2.3 — dimethylbutane
308 e GHS), B 6F g“a“e.:: $50-Qy arabod

1)n- .':‘.Pébf% (ii) 2-2088 083 (ii1) 2,3 - & @S mgéﬂf%
Options :

| @ 1> 11> il

5 % 11>1i>1

L il > 1>

4w 1> il > i

Question Number : 140 Question Id : 5500531740 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which one of the following is a semiconductor?
S08 S D& g Teirgo?

Options :

2.« Ge



Diamond

G0k

Cu

Question Number : 141 Question Id : 5500531741 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

At 293 K, the Henry law constant in water for N; and O; are 76.48 k bar and 34.86
k bar respectively. What is the ratio of mole fractions of Ny and O, in water?
(Assume partial pressures of N; and O, same at 293 K)

293K ¢ NS" Ny 06080 0y 399 Aahidy 057w SR 76.48 k bar

2080k 34.86 k bar. 6" Ny 08ty 0, 0 36 e7re G dod?

(293K 56 Ny, 0y &8 dearen 2drin eios Qi)
Options :

L 2.19
L 0.95
0.60

4 v 0.45



Question Number : 142 Question Id : 5500531742 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

At 298 K. if the vapour pressure of pure liquids toluene, benzene, chloroform and
dichloromethane are 60, 160. 200 and 415 torr respectively. Then which liquid is
having high boiling point?

298 K ¢ 306 gradeden 6703, Hod, BT wdokw EEED © g
wﬁbﬁacﬁmw ST 60, 160, 200 2080w 415 tor 7 &) . eand 2 Grdeis
0AY wfnge;ﬁbé P50 OO

Options :

Toluene

5°09

1. %

Benzene

830280
2. %

Chloroform

i £8

3.

Dichloromethane

. 2ETRD

Question Number : 143 Question Id : 5500531743 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A reaction, 3X(g)—2Y(g)+Z(g) takes place in a closed vessel. What is the rate
of formation of Y(inmolL™s™") if the rate of disappearance of X is

72x10° mol L™ 9

3X(2) > 2Y(g)+Z(g) w0 w3 w8 durdedy SFSY adorbdod.

X e ay Gew 72x10° molLs™ evawis, Y 6 Bt mol L™ e’
AL

Options :

. 3.6x107

3
., 48x10

L » 24%107

, » 1.2x10°7

Question Number : 144 Question Id : 5500531744 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The minimum voltage (in V) required to bring about the electrolysis of 1M copper
(IT) sulphate solution at 298 K is

(GivenE, ;.  =034VandE, _ =-123V)

298 K ¢ IM 5706(11) 9856 gradeno & Doy dacso Sodocstrds
SRETERA S6e (V od)

E

o /Cu

=0.34V, EH; _— —1.23\-?
Options :
. H57

1.

2.¢+0.89

Question Number : 145 Question Id : 5500531745 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Consider the following statements for a gold sol
I) It 1s macromolecular colloid

IT) It is a Iyophobic sol

III) It is a negatively charged sol

I'V) It is a multimolecular colloid

V) It 1s an associated colloid

The correct statements are

ﬁ“’g Fe5 £ Howodod) So0d Ty Dodosodt
I) a8 28 e)rd wrwSurand

II) @b wg OB DS FeS

I) 28 208 Sorra% IS

IV) @8 w8 70 evsdd evsSerand

V) 2 w8 28 Seroné

ROADA Tfanfen

Options :

L, II. TIT only
. LILTI SIS0

IT, IIT, IV only

1 IIL IV &g
2.9

3. %



01, IV. V only
ITL IV, V &g

[. IV V only
. LIVV &réd

Question Number : 146 Question Id : 5500531746 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following
List—1

(Process)

A) Ostwald’s process

B) Lead Chamber process
C) Deacon’s process

D) Haber’s process

The correct answer is

208 THD 2SDEVS
o -1

(D&S)

o

A) s it

B) G& oroeb &S
C) &z bga
D) sre0d bga

2BEDD HDITEDHo
Options :
. AIV.B-L C-IL D-III

> % A-II, B-III. C-IV, D-I

A-IIL, B-1, C-IV, D-II
3. v

List- II
(Catalyst)
I) NO

IT) Fe

IIT) Rh
IV) CuCl,

Do 11
(&8)0%0)
[)NO

IT) Fe

II) Rh

IV) CuCl,



, » A-IL B-IV, C-1 D-II

Question Number : 147 Question Id : 5500531747 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The process which involves the treatment of the ore with a suitable reagent so as to
make it soluble but not impurities is called

2 7980 TLOm A HrD IFS w8 T8 S6Sed, $64 e dor
S8 &5 DESN Adootrdy?
Options :

Froth floatation

DDD DSAD

1. %

Roasting
. B0
2. % &
Hydrometallurgy

- 205 5 Dofireso

Leaching

4 DEF D0

Question Number : 148 Question Id : 5500531748 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Arrange the hydrides NHs, HF, Hy0. HCI i the increasing order of their boiling
points

TE¢ NH;, HE. Hy0, HClow &8 eranasidd gww 67 008" ety
Options :

HF < NH, < HCl <H,0

1. %

- H,0 < HF < HCl < NH,

. NH; <HCI<H,0<HF

HCl<NH, < HF <H,O
4.\‘;;/ 3 A

Question Number : 149 Question Id : 5500531749 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The configurations of the complexes of manganese A, B respectively are

t, &, .ty &, Then A, B are
A.B 090 &rofidd vo3aFe DTidren SR el 1) el AL B o adirm

Options :

Nl

[Mu(H,0),] . [Ma(eN), ]

1. ®



[Mn(H,0),] . [Ma(eN), ]

[Mn(H,0), 7. [Ma(cN), ]"

3. % -

» | Mn(H,0), ] .| Mn(CN), |

Question Number : 150 Question Id : 5500531750 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following types of isomerism is exhibited by
[Co(NH;, )5(NO,)] (NO,),

1. Optical ii. Linkage iii. Ionization iv. Coordination

308 8" A [Co(NH,);(NO,)| (NO;), 08,03 ﬂﬂdﬁg gseen
L8 il wod il ecdS6e V. DR0ADH VBRI
Options :

1.4

1, 11, 111 only

1, 11, i1i S
2. % =

3. %



i. 1i1 only

i, iii Aoresdo

ii. iv only

11, 1V Srrdha
4. % i

Question Number : 151 Question Id : 5500531751 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Zinc acetate — antimony trioxide catalyst used in the preparation of which polymer?

2 D06 30305 205 NS — e20DAND SZENS 68)05°0) TEOTE?
Options :

High density polythene
90% Jrogdet FOHS

1. %

Teflon

B
2. ® ”

Terylene

- &899

PVC
, % PVC



Question Number : 152 Question Id : 5500531752 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

In which of the following amino acids —OH group 1s present?
Lysine  Serine  Tyrosine  Valine

A B ¥ D
308 Q AW edrees’ —OH D&uriro eotod?

SIS TS e S IO F IS T TS 1

A B £ D

Options :

1.2 A.B
2 % A.C
3.JB. 5

, % B.D

Question Number : 153 Question Id : 5500531753 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following represents nucleoside?
S08 TS G ArfSAITRE & ArARWS?

Options :

1.



N=—(
G‘\\/\
O\\Pxo NJ
- \\
HO O Q
» OH OH

Question Number : 154 Question Id : 5500531754 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the correct statement from the following

208 ToeS” DTS DHBE HHBoHod

Options :

Unbranched hydrocarbon detergents are non-biodegradable

Taraiugo 520 FES 6O Aot £ §5 DSTIS B 57

1. %

Cetyltrimethyl ammonium bromide is used in hair conditioners

236 BDFS ATA0DH ¢'AE & rand SodnDd ud’ TeEd
2. -

Liquid dish washing detergents are anionic type

TSV 300 B G G0t BD0IrAE EeBot SIS BoBDHD
3. %

Synthetic detergents cannot be used in hard water

4 AeBoty €85 200d eDATAotTaw
4, ®

Question Number : 155 Question Id : 5500531755 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Fittig reaction is
Folhe) lely SIS
27 [2
Options :
Reaction between two aryl halides in the presence of Na/dry ether

Jdodo, T 96 DE0S", Bot ITES FGEy Do 6y
1.¢



Reaction between two alkyl halides in the presence of Na/dry ether

Jdabo, T €696 508", Boctd 9 S TG E HE By
2. % .

Reaction between aryl halide and alkyl halide in the presence of Na/dry ether

i Jcaho, Jé $i86 20508, w &) S FGE B0 IS HFGE Socs| 56
3. !

Reaction between two aryl halides in the presence of Fe/ dry ether

RV, & S50 VA F0E’, Tochd TS HGE Do Ty
4, %

Question Number : 156 Question Id : 5500531756 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
How many asymmetric carbons are present in the following molecule?

308 eI oeRDS” I OIS 56D ) &) o7
HOH,CCH(Br)CH(Br)CH,0H
Options :

"
1. %8 2

3 % 4

4. 2



Question Number : 157 Question Id : 5500531757 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The number of aldehydes that undergo cannizaro reaction from the following are

Phenyl ethanal, Methanal, 2 — Methoxy propanal, Trichoro ethanal

308 ¢’ 3l $6) S08 whiré e !

SRS GHTS, NETS, 2- Nersy Tod, BEE S

Options :

1.«'-/2

2.*“‘53

3.“4

Question Number : 158 Question Id : 5500531758 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What is *X in the following reaction?

o8& asseﬁﬁ 4 T

CHCH; (i) KMnO,/ KOH
S X
H.C (i) Hs0*

Options:
CH,COOH

.« HOOC

OCOOH
», « HOOC

@/CHQCHg
5 x HOOC

/O/COCHS
4 » HOOC

Question Number : 159 Question Id : 5500531759 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Identify the correct products, when ethanol reacts with PCl;

Q3¢S PCLs & SB[ 0 20 DBYE €T 0 Hotsod



Options :

Chloroethane. Hydrochloric acid and Phosphorus acid

§8 6B, rE§ 65 09320 OBOKL 7NED €350

1. %

Chloroethane. Hydrochloric acid and Phosphoric acid

§T 3. 3EE 05 e2500 208050 05 e2:0
2. % '

Chloroethane. Sulfuric acid and Phosphorous oxy chloride

£8 %3S, ey 65 esdoo. dndatn FONGD 33§ BE
3. % : . L

Chloroethane. Hydrochloric acid and Phosphorous oxy chloride

§86:30, ;EE 68 es0 S8k NG 4933\8§BE
4.+ :

Question Number : 160 Question Id : 5500531760 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The product of an amine “X" with benzene sulphonyl chlotide produces the product
which is insoluble in alkali. The product of ‘X" with ethanoyl chloride is

28 3 X 0050 Bodd DTS ETE © &8y¥)0 oS’ Shrichy,
RIS §3E & X’ ady®)0 267
Options :

C H.NHCOCH,
1. %



., CH N(CH;)COCH,

. CeH;N(CH,)CH,CH,

C H.NHCH,CH,
4, ® Z



